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N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 1/1

log (L*) CIELAB lightness

log(L*) L*

CIELAB lightness for all colours, L*,=100:
L* =116 ¢/Y,) "3~ 16 {,=100, Y> 1)

L*,=50, Y,=18
"
log(L* )=1.69 m,=043 _ »*
>

’
’

application
' range
1Y, =180

WE160-1N_1
log AY CIE tristimulus value Y difference
log(AY) AY
L* =116 (/Y X2 - 16
tristimulus value difference according to CIELAB
log(dY)= log( 3 (/,/116) ) + (2/3) log{/Y,)
= log(3(v,/3/116) + (2/3) logy)

Y,=18, dY,=0.83 dY,/Y,=0.045
application
range

1Y,=18

WE160-3N_1

log AY/Y)
10g(C;)  C=(aYIY)

CIE tristimulus
value Y contrast

tristimulus value contrast according to CIELAB
log[(dY/Y) = log(3 (Y, 3/116) - (1/3) logy

application
range

~ ~
log(dY/Y)=-1.33 m=-0.33~ & -
-

WE160-5N_1

log (Y/AY) CIE tristimulus
log(S) S=(/aY) value sensitivity

tristimulus value sensitivity according to CIELAB
log(Y/dY)= log[(1/3) (116¥,)] + (1/3) log(Y/Y,)
= log[(1/3) (116/¢, 3] + (1/3) log(Y)

L* =50, Y,=18, dY,=0.83 Y,/dY =21 « ="
- .
log(Y/dY)=1.33 rm:O.gS_ e s
application
range
v, =18

WE160-7N_1
WE160-7N

log (L*/L* ) relative CIELAB lightness
[E7TE

relative normalized CIELAB data
CIELAB lightness for all colours, L*\y=100:
L* =116 /Y, ** - 16 {¥,=100, Y> 1)

L* =50, Y,=18

................ a

logi(L)(L* JI=0, M=043 _ & : ! application
>

é | range
51100

'WE160-2N_1

log(AY/AY,) relative CIE tristimulus
INUNA value Y difference

L* =116 {//Y,) 2 - 16
relative tristimulus difference according to CIELAB
log(dY)= log( 3 (¥,/116) ) + (2/3) log{/Y,)
= log(3(Y, /3/116) + (2/3) logl)

log[(dY)(dY,)]=0, m,=0.66 . e
>

X 1 range
2 1y =18

'WE160-4N_1

log [(AY1Y) I (AYy/Y)] relative CIE tristimulus
C,/Cry=(AYIV)/(AY1Y,) value Ycontrast

relative tristimulus value contrast according CIELAB
log@Y/M)/(dY,/Y,)] = log(Y/Y,) 3

application

-~
10g[(dY/YY(dY,/Y,)=0, m=-0.33 1 ~ ~ =,
Y,=18 dY,=0.83 dY,/Y,=0.045 |
1Y,=18

'WE160-6N_1

log [(Y/AY) I (Yy/AY,)] relative CIE tristimulus
10g(S) S/Su=(YIAY)I(Y,/AY,) value Y sensitivity

relative tristimulus value sensitivity of CIELAB
log[(Y/AY)/(Y,/AY,)] = log(vrY,)Y?
L* =50, Y,=18, dY,=0.83

L* =50, Y,=18, dY,=0.83 Y,/dY =21
log[(Y/dYY(Y,/dY,)]=0, m,=0.33
-
: application
1 range
1Y,=18:l1)0

'WE160-8N_1

log (L*) LABJND threshold lightness
log(L*) L* threshold lightness for all colours
L*=(ta)In(1+aY)  a=0.3411 t=88.23
L*=(t/a)In[1+b (Y/Yy)] b=6.1411 t/a=258.4

L* =508 Y,=18, dY,=0.08 dY,/Y,=0.004
log(L*;)=2.7, m;=0.43

application
range
1Y, =181000

WE161-1N_1

log AY CIE tristimulus value Y difference
log(AY) AYL*= (@) In (1 +aY) a=0.3411 t/a=258.6
dLdY =t/ (1+aY) s=0.017 g=0.0058
dLedy =t/[1+ (aYy) (Y/Yy] t=88.23
tristimulus value difference
log(dY)=log[(s+qY)/c] c=1.5
=log[(1+aY)/t] t=c/s=88.23
=log [(1+(@Yy) (YY) /t] .
=log [(1+b(¥/Y,))/t] b=a#_=6.14
Y,=18, dY,=0.08 d¥,/Y,=0.004 ¢
ol * application
: range
]

WE161-3N_1

log AY/Y)
10g(C;)  C=(aYIY)

CIE tristimulus

value Y contrast
L*=(/a)In (1+aY) a=0.3411 t/a=258.6
tristimulus value contrast

logdY/Y) =log[(1+aY)/(tY)]

=log [(1+b (YY) /(tY)]

application
range

* 4
log(@Y/Y)=-2.34 m=-0.13" ~ . .

WE161-5N_1
log (Y/AY) CIE tristimulus

log(S) S=(v/aY) value sensitivity

L*=(ta)In (1 +aY) a=0.3411 t/a=258.6
tristimulus value sensitivity

log(Y/dY)=log [ (1+a'Y)/(t-Y)]

Y,=18, dY,=0.08 Y,/dY =222
log(Y/dY)=2.34 m,=0.13
-

application
range
Y, =180

WE161-7N_1
WE161-7N

log (L*/L* ) relative LABJIND threshold lightne
L

relative threshold lightness for all colours
L = (a){In(1+aY)-In(1+aYy}
L¥/L* = (V) {In[1+b (Y/Y)] - In[1+b)]}
a=0.3411 t=88.23 b=6.1411 t/a=258.6

L* =508 Y,=18, dY,=0.08 dY,/Y,=0.004
log[(L*) /(L* )]=0, m,=0.43
application
1 range
1Y, =18:l0)0

WE161-2N_1
log(AY/AY) relative CIE tristimulus
INUNE value Y difference
L*=(t/a) In (1 +aY) a=0.3411 t/a=258.6
relative tristimulus difference
log(dY/dY,) =log [ (1+a'Y) /t]—log [ (1+a"Y,) /t]
=log [ (1+b*(Y/Yy)) /t]-log [ (1+b)/t]
Y,=18, dY,=0.08 dY,/Y,=0.004 '/
log[(dY)(dY,)]=0, m,=0.86
: application
1 range
1y =18

WE161-4N_1

log [(AY1Y)  (AY/Yy)] relative CIE tristimulus
C//Cr=(AYV)/(AY]Y,) value Y contrast
L*=(/a)In(1+aY) a=0.3411 t/a=258.6
relative tristimulus value contrast
log[(dY/V)/(dYy/Y)] =log [(1+aY)/(t-Y)]
—log[(1+aYy)/(tYy]

log[(dY/YY(dY,/Y,)]=0, m,=-0.
Y,=18, dY,=0.08 dY,/Y,=0.004

WE161-6N_1
log [(Y/AY) I (Yy/AYy)] relative CIE tristimulus
109(S)  S/S,=(YIAY)/(Y,/AY,) value Y sensitivity
L*=(t/a) In (1 +aY) a=0.3411 t/a=258.6
relative tristimulus value sensitivity
log[(Y/dY)/(Y,/dY,)] =log [(t-Y)/(1+aY)]
—log [(tYy/ (1+aY,)]

Y,=18, dY,=0.08 Y,/dY =222

application
1 range

WE161-8N_1

TUB-test chart WE16; CIELAB and LABJIND formulae input: w/rgb/cmyk —> w/rgb/cmyk

Threshold lightness, difference, contrast, and sensitivity
Y

P

indino Ae|dsip Jo Juswainseaw Joj uoneoldde

Sd’/ LX1'YNO19T3IM/9TIM-TOZ0ETOZ :uonensibal gni




